
A

B

Tools Needed:
10mm Socket
13mm Socket

NOTE: Use blue Loctite on threads for best results. 

Included in package:
1x Seat Plate
4x M8 - 1.25 x 25mm long hex screw
4x M6 - 1.0 x 106mm long hex screw
4x M8 - 1.25 nylon-insert nut
8x M8 washer
2x End caps

Attach seat plate to chair casters or bike stand with M8 screws, washers and nylon-insert nuts
Attach RZR seat to seat plate with M6 screws
Install end caps

A.
B.
C.

C


